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CH2lr THeHAIE SO0 (CHl: X 21)
2A - 33 - SRA(ZH) - HRAIY - BES Ofl &k oK DIRESE Hlws2
NN 15,338,394 12,576,895 2,761,499
= 299,067 48,067 251,000
= 274,000 14,000 260,000
[ 2,544,300 2,511,321 32,979
Al 12,221,027 10,003,507 2,217,520
NSZH st 8,177,265 7,136,575 1,040,690
= 6.067 6.067 0
= 260,000 0 260,000
[ 1,480,377 1,480,377 0
Al 6,430,821 5,650, 131 780,690
MHehAlE 200 1,089,550 248,860 840,690
= 260,000 0 260,000
Al 829,550 248,860 580,690
HEANTY 243t 314,150 248,860 65,290
201 LBt2 3| 212,000 162,000 50,000
02 332 167,000 117,000 50,000
HdSAE HIIR=s 72,000 30,000 42,000
HdSANE == 15,000 7,000 8,000
303 &= 2,900 0 2,900
01 Z&Z 2,900 0 2,900
HSANE 243t 8 2524 24 2,900 0 2,900
307 2I2H0I™ 78,250 65,860 12,390
02 LB AAIEEE 20,250 58,860 238,610
HSAE AELN 28 X
2,250, 0002+ 125 10JHE%90% 20,250 58,860 38,610
04 QIZFHAIAIE 2 X 58,000 7,000 51,000
STAIZ AL =X 11,000 0 11,000
HSAIE OIS 40,000 0 40,000
HEANE SESHEIEEXIY) 255,400 0 255,400
307 2I2H0I™ 5,400 0 5,400
02 LB AAIEE X 5,400 0 5,400
AZZHII XX R AL (CHE B =LA E) 5,400 0 5,400
308 AHXIEHSOIHE 250,000 0 250,000
13 SVI2 S0t A HAE A 250,000 0 250,000
EStAZEAE SEAL(UHEEAAIR) 250,000 0 250,000
A LAY 520,000 0 520,000
= 260,000 0 260,000
Al 260,000 0 260,000
307 2I2+0l1™ 520,000 0 520,000
= 260,000 0 260,000
Al 260,000 0 260,000
02 LB AAIEEE 520,000 0 520,000
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SA - BE - S9(30) - HRAY - BES ol &k ol & o imEET
AHEESIAI (1XHES) 520,000 0 520,000
s 260,000 0 260,000
Al 260,000 0 260,000
AArE01 B 5t 6,985,600 6,785,600 200,000
= 1,470,750 1,470,750 0
Al 5,514,850 5,314,850 200,000
2a30 XA 1,004,000 1,204,000 A200,000
307 glztold 0 200,000 A200,000
08 OIXtENZ 0 200,000 A200,000
28301 k= 0IH2HS 0 200,000 A200,000
NGNS EA 2,900,000 2,500,000 400,000
201 LB AY| 800,000 400,000 400,000
01 AtS-2teld 800,000 400,000 400,000
STASAZALEH I 2H(XF L 2HHY 800,000 400,000 400,000
NEFTHY 2,204,074 1,536,563 667,511
s 10,000 10,000 0
= 110,738 105,303 5,435
Al 2,083,336 1,421,260 662,076
NEEM=d 658,557 485,600 172,957
= 5,435 0 5,435
Al 653, 122 485,600 167,522
CHetd MAME 2| o2 160,000 80,000 80,000
307 glztold 160,000 80,000 80,000
02 SIHBAANHEE 160,000 80,000 80,000
CHSt MAHME S| QE2Y 160,000 80,000 80,000
MEE ZEE LAY 104,522 52,000 52,522
101 @1 24H| 102,522 50,000 52,522
04 JRHH2Z T EE = 102,522 50,000 52,522

AlsEZ=F AT Rl (F0k= LXiel

ZHEEE 8) 102,522 50,000 52,522
HLNZBE SAZ KA 5,435 0 5,435
= 5,435 0 5,435
201 LB AY| 1,000 0 1,000
L= 1,000 0 1,000
01 AtR2teld| 1,000 0 1,000
FHANHS SA=Z N2AAY E2H| 1,000 0 1,000
L= 1,000 0 1,000
301 LEt2d= 4,435 0 4,435
= 4,435 0 4,435
14 JIEt243 4,435 0 4,435
FAXNAS SAlE N2AME K23 4,435 0 4,435
L= 4,435 0 4,435
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STY HZEE LA2IAY 78,000 43,000 35,000

101 eI44| 70,000 35,000 35,000

04 JIZtHI22 XS ES 70,000 35,000 35,000

SEE NRAEE JRe/ArE elAid| 70,000 35,000 35,000

MEXE HNELX AL 1,525,517 1,030,963 494,554

< 102,303 102,303 0

Al 1,423,214 928,660 494,554

3322 1,172,000 781,600 390,400

101 @I244| 1,152,000 768,000 384,000

04 J1ZtHI2 2R SE+ 1,152,000 768,000 384,000
S3IZAMY 22X 21|

1,600,000 *80 9 1,152,000 768,000 384,000

201 23| 20,000 13,600 6,400

01 At22teld| 20,000 13,600 6,400

2222AY 2Y 18,400 12,000 6,400

SZEALICIALSE 55,127 27,973 27,154

101 eI44| 55,127 27,973 27,154

04 JIZHHI22 XS ES 55,127 27,973 27,154

SSEHELXICIAIY 14| 55,127 27,973 27,154

AZHEER (A XRtel Ak 141,000 64,000 77,000

101 @I244| 141,000 64,000 77,000

04 J1ZtHI2 2R SE+ 141,000 64,000 77,000
MBI e X2l ALY

1,175,000 +20 4«62 141,000 64,000 77,000

NEZXOHE 53,418 32,000 21,418

= 4,000 4,000 0

== 13,625 7,200 6,425

Al 35,793 20,800 14,993

INEIESPIReaE=p 45,418 24,000 21,418

< 12,425 6,000 6,425

Al 32,993 18,000 14,993

ASIEZHM UERKA =& 24 XA 21,418 0 21,418

< 6,425 0 6,425

Al 14,993 0 14,993

307 212t01™ 21,418 0 21,418

< 6,425 0 6,425

Al 14,993 0 14,993

04 QIZISHAIAIE E X 21,418 0 21,418

M EHZH MERH 7= EE3 2,060 0 2,060

== 618 0 618

Al 1,442 0 1,442

HIODE A= Sclirt 10,000 0 10,000

< 3,000 0 3,000
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2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HwsZ
Al 7,000 0 7,000
SEMSEZH SO 9,358 0 9,358
= 2,807 0 2,807
Al 6,551 0 6.551
S 38X 1,158,566 512,500 646,066
= 32,769 11,650 21,119
Al 1,125,797 500,850 624,947
sS2J1Y XA 1,158,566 512,500 646,066
= 32,769 11,650 21,119
Al 1,125,797 500,850 624,947
SRR & IISXN2Es 268,000 253,000 15,000
201 ZEH=2 | 58,000 43,000 15,000
01 AlR-2teld 51,000 36,000 15,000
STLEAATT] AFH GI=Z &l Xt 15,000 0 15,000
NLETNETAME (EX) 607,600 0 607,600
402 QI+ K20l A 607,600 0 607,600
02 QI XH2 AL E (01 ATHE) 607,600 0 607,600
NLENETEESZ SH(KOF ZHI) 607,600 0 607,600
SN2 L IIgXNES(EX) 23,466 0 23,466
= 21,119 0 21,119
Al 2,347 0 2,347
307 212t01& 23,466 0 23,466
= 21,119 0 21,119
Al 2,347 0 2,347
02 RIHEAIAHE X 23,466 0 23,466
AFACHT] DEEHE INEAI (S RIEXIE) 23,466 0 23,466
= 21,119 0 21,119
Al 2,347 0 2,347
AHEX =4 & 29 2,704,867 2,422,441 282,426
= 293,000 42,000 251,000
= 906, 791 906, 791 0
Al 1,505,076 1,473,650 31,426
MAEK =4 2t 2,704,867 2,422,441 282,426
= 293,000 42,000 251,000
(= 908, 791 906,791 0
Al 1,505,076 1,473,650 31,426
ZHEAUBIAACIR] =4 L 2| 146,000 118,000 28,000
401 AlZHIZL S CHY] 120,000 92,000 28,000
01 Al&H| 120,000 92,000 28,000
2ESIHTMlAE HS A2E 20,000 22,000 22,000
AEESHXCIAE I =A2 0 10,000 210,000
S UBMATT] AMEE FAE= 5,000 10,000 /5,000
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2A - ZH - HRA(3) - MRAIY - B DIRESE Hlws2
SHEAUBMATHT] JtZ28HE FH| 40,000 0 40,000
HEZISH==HMEIAE 2HE X 5,000 0 5,000
SHLERMAEA H=SLXCIAIE EX 444,000 60,000 384,000
293,000 42,000 251,000
151,000 18,000 133,000
401 AlEHIL R 0HY] 444,000 60,000 384,000
293,000 42,000 251,000
151,000 18,000 133,000
01 AlZHI 444,000 60,000 384,000
S SSH=XCIAE
EXIA (1-2EHH)) 444,000 60,000 384,000
293,000 42,000 251,000
151,000 18,000 133,000
ST LA ZEALY 182,000 122,000 60,000
401 Al&HI2 SO 160,000 100,000 60,000
01 AlZHI 160,000 100,000 60,000
STHLBAEA AIZE RAI2e 20,000 10,000 10,000
STLEATT] D2 ErE Z| 50,000 0 50,000
STHLBRAET] SSHXCAIE 24 78,426 268,000 189,574
201 LBt2 3| 68,426 248,000 179,574
01 AtR2telH] 49,926 223,000 173,074
SHSSH=XCIAIE 22| HEES 7,321 150,000 A142,679
SHSSH=XCIAIE SHSE HgEEY 19,690 30,000 210,310
SESSH=HM2IAE H=XHel2U
AEHeIES 21,965 40,000 /18,085
STESSH==HMEIAE &I 2t
e 950 3,000 22,050
02 SE=24H| 18,500 25,000 26,500
SHSSH=HMelAlE 2Z2c/| 18,500 25,000 26,500
206 M=l 0 10,000 210,000
01 =4l 0 10,000 210,000
SHESH=XMEIAE 34| 0 10,000 210,000
Sz =24 310,661 306,681 3,980
CIAIZ D A2 St 2| 310,661 306,681 3,980
S &2 310,661 306,681 3,980
403 MXISHISAH=01d 13,140 9,160 3,980
02 SJ12SOICHE X=X 2(E A 13,140 9,160 3,980
22XNSE=ENZ IF2H ASAE 13,140 9,160 3,980
Y =SB 78,480 81,480 /3,000
Jl=&H 78,480 81,480 /3,000
Jl=23| 78,480 81,480 23,000
201 LBt2 3| 49,220 52,220 23,000
01 AtR2telH] 39,020 42,020 23,000
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